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Homework 2 is due on Friday, January 21 11:59 PM

Today: Reducible Markov chains with 
finite state space

            Markov chains with infinite state                               
space
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• What about transient states ?

• What if Pe is not aperiodic ?
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Transient states

Conclusion : if TCS is a Transient Class
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Transient states
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Transient states
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What is the probability that starting from a transient

state i we end up in a récurrent state j ?
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Birth and death processes ( infinite state space )
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Birth and death processes
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Birth and death processes
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Birth and death processes
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Positive and null recurrence

Let (✗n ) be a Markov chain ,
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Positive and null recurrence
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Positive and null recurrence
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Positive and null recurrence
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Positive recurrence and stationary distributions

hm 9.6 Le-1 (Xn) be a Markov chain with a state
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